1.5
1.5 —
]
U_AMAAAAAAAA B
O S
> G
& 25
13 13.5 7 5 13.5
(1 x M8 Nut, 1x M8 Spring Washer,
1 x M8 Flat Washer )
(1 x M6 Nut, 1 x M6 Spring Washer,
1 x M6 Flat Washer )
NOTE: Brass With Silver Plated
NAME DATE | TITLE
o Terminal Adapter M6 to M8 Or M8 to M6
APPVD
COMMENTS:

GACELL

The right battery

GACELL

Ad

REV. B

DIMENSION IN MM

SCALE: _wImm._.n _ DWG NO.




